W @ @ Kerro desimaalit kymmenelld negatiivisella
\ 4 = %

— potenssilla
Nimi: Pdivéimadrd: __ Pisteet: ___
1985,1 x0.01 = 9364, 1 x 0.0001 =
3622 x 0.01 = 6109,4 % 0.001 =
4737,7 x 0.0001 = 4212,5x0.0001 =
5668, 2 x 0.001 = 4867,6 % 0.0001 =
7570,4 % 0.1 = 9966, 5 < 0.001 =
9400, 1 x 0.1 = 7751,4 % 0.001 =
6114, 8 x 0.0001 = 4041, 4 x 0.001 =
6385,1 x0.01 = 9985 % 0.0001 =
5082, 3 x 0.001 = 7719 x 0.01 =
9884 % 0.001 = 3919,4 % 0.001 =
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Kerro desimaalit kymmenelld negatiivisella
potenssilla

vie § 2

Nimi: Piivimadrd: __ Pisteet: ____
1985,1 x 0.01 = 19.851 9364, 1 x 0.0001 = 0.93641
3622 x 0.01 = 36.22 6109, 4 x 0.001 = 6.1094
4737,7 x0.0001 = 0.47377 4212,5 % 0.0001 = 0.42125
5668,2 x 0.001 = 5.6682 4867, 6 x 0.0001 = 0.48676
7570,4 x 0.1 =757.04 9966, 5 x 0.001 = 9.9665
9400, 1 x 0.1 =940.01 7751,4 % 0.001 = 7.7514
6114, 8 x 0.0001 = 0.61148 4041,4 x 0.001 = 4.0414
6385, 1 x 0.01 = 63.851 9985 x 0.0001 = 0.9985
5082,3 x 0.001 = 5.0823 7719 x 0.01 = 77.19
9884 x 0.001 = 9.884 3919,4 x0.001 = 3.9194
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